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« Sif : Python 3.6.5

« 3217 : Jupiter notebook 5.5.0

« 7477 « JEREY 2 —)L & scikit-learnii 0.19.1, Pandasii 0.23.0, NumPyiv 1.14.3
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.import pandas as pd

.import numpy as np

.%matplotlib inline

.import matplotlib

.import matplotlib.pyplot as plt

.from sklearn import cross_validation

.from sklearn.preprocessing import StandardScaler
.from sklearn.ensemble import RandomForestRegressor

M CSVT77AIDFEHFAH(T 7AILE - test2.csv, TFANIYOA—FT1 > :UTF-8)
.df_test = pd.read_csv("test2.csv",encoding="UTF-8")

12.

H# ABADICERT 27T —Y5I0EE
.X_CO.I.S - EIIAD%&H,lli‘gﬁﬁn,uﬂ{ii‘mﬁﬁll]

.y_cols = ["1 5kmAO"]

16.

H#AT - HAT -5 DENS

X = df_test[X_cols].as_matrix().astype('float")
.y = df_test[y_cols].as_matrix().astype('int"').flatten()

20.

M RNL—ZV0 T TANT—5=0.8:0.2lcB2LSICTVIALICHE ELEERIE : 70)
X_train, X_test, y_train, y_test = cross_validation.train_test_split(X, vy,
test_size=0.2, random_state=70)

M ANT—FZERE

scaler = StandardScaler()
scaler.fit(X_train)

X_train = scaler.transform(X_train)
X_test = scaler.transform(X_test)

M IVILTALANTES

.model = RandomForestRegressor()
.model.fit(X_train, y_train)

34.

A HEEMEORDY (RERE) Z=HD
print(model.score(X_test,y_test))

HOETERER
result = model.predict(X_test)

M T T L —LICER

df_result = pd.DataFrame({
"test":y_test,
"result":result
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# CSVERA (7 741)L%  answer_number.csv)
df_result.to_csv("answer_number.csv")
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